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IMPORTANT NOTES:

1) Please make sure that you have written your student number, name and signature
above.

2) Check that the exam paper contains 5 problems.

3) Show all your work. No points will be given to correct answers without reasonable
work.

4) Please TURN OFF your cellphones.
5) Calculators are NOT ALLOWED.

6) It is not allowed to leave the exam during the first 30 minutes.




1) a)(10 pts) Consider the three points A = (1,2), B = (5,2) and C = (1,5). Form the
triangle ABC. Is this triangle a right triangle or equilateral triangle? Explain.
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b)(5 pts) Find the distance between the point (2,3) and the midpoint of the line
segment from (1,5) and (3,1). '
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2) a) (10 pts) Test y = ﬁ for symmetry: Is the graph of y symmetric with respect to
y-axis, r-axis or origin?
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b) (10 pts) Find the intercepts and then graph the equation y = 22 + 3z.
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3) a) (5 pts) Find an equation of the line passing through the points (-2, 3) and (2, 4).
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b)(10 pts) Find an equation of a line passing through the point (—1,4) and is perpen-
L eq diglélar teci_the line 2z + 5y = 1.
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c) (10 pts) Find an equation of a line passing through the intersection point of the lines
2z + 3y =4 and z — 2y = 1 and is parallel to the line y = 4z + 3.
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4) a) (10 pts) Find the radius and center of the circle
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b) (10 pts) The end points of the diameter of a circle are (—2,3) and (1,2). Find the
center and radius of the circle. Write the standart equation of that circle.
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5) a)(10 pts) If the vectors v; = (1, —2,a) and vy = (3,2, —1) are perpendicular, what is a?
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b) (10 pts) Calculate the cross product of the vectors v; = (—1,2,-2) and v, =

(1,0,2). ;
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